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Tanta University : Faculty of Engineering
Time allowed: 2 hours Subject: Technical English
Date: 9-6-2015

Final Exam of Preparatory year 2014/2015

Answer The Following Questions;

Question (1):

I. Read the passage and answer the qUESTIONS: ..., (5 marks)

Many different kinds of engineer work on large engineering projects such as the building of an
aeroplane or the construction of a new chemical processing plant. For example, if a new nuclear
power station is being planned, civil engineers are responsible for the design and construction of the
plant itself; mechanical engineers are needed to design, operate and maintain the pumps and the
cooling and other mechanical systems used in the plant; and nuclear specifically, and electrical
engineers more generally, are in charge of the design and operation of the electrical generation
systems and the production of electricity. Because of the large number of engineers from different
fields working on such projects, it is important to have systems engineers to co-ordinate the work of
the engineers from different specializations.

1, List all the kinds of engincers mentioned in  this  passage:

4. How do we solve the problem of large numbers of engineers from different specializations
working on one large project?

5. True or false:
(i)"Nuclear engineers design and operate electrical generation systems in nuclear power

plants."
(i) "The nuclear power plant talked about in this passage has already been built."
II. Use some of the words at the bottom to complete the SENLENCES: ......vvvvrinniecsssinns (5 marks)

1. A lot of engineers have described engineering as the
practical .....ccoovieiiinienens of scientific knowledge.

2. The theory was very simple, but it was very .........
3. Chlorine is used a lot in water ...................

4. one of the areas in which a chemical engineer work is
inresearch and .......

5. In order to be a good engineer you need both
theoretical knowledge and practical ..........

Words:
locate  sanitation development education
increase specialization examine experience
supply purification  liquid practical
hydraulic application purpose  research
Question (2):
---&L:l;;;;-;erbs from (1-10) to the definitions (a-h). ........cvverene 5 marl;s)
1- adjust a- Carry out planned maintenance.
2- drain - b- change an old or damaged part
3- disconnect c- check carefully
4- dismantle d- empty a liquid
5- examine - e- add more fluid to fill a tank to the recommended level
6- Replace f- set up carefully by making small changes
7- reconnect g- take apart assembled components
8- service h- apply the correct torque, for example to loose bolts

Question (3):

----- C é;;t;ié;;-the following sentences using the words in the boX : .....ccovmnnerininrnnnn(5 marks)
weld specimen elongation exhibits
numerical stretch alloy determine

1- At very high temperatures manganese.......cc.u.. the property of magnetism.
2- If you pull an elastic material it can ....coceunnee

3- The mechanic had to ........... a new wing on the car after the accident .
4- Brassisan ....... of zinc and copper.

5- A tensile test is used on metals in order to........... their tensile strength.
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Question (4):
Make opposites of the following words using the prefixes in the [T SO (5 marks)
ab- dis- im- in- ir- mal- over- un-
1 correct —_— 6 proportionate —_—
2 undersized _— 7 regular —
3 adequate —_— 8 balance —
4 detected : — 9 function —
5 normal —— 10 operable —_—
QUESHION (4): oo e s bR e e (5 marks)

What is the meaning of the following words ? use the choices at the bottom to help you:

1-  Animals are Disappearing From many areas of the world because they are losing their
natural environment to man. "Disappear " means :
a) leaving b) going away and being lost c)arriving in

2- Scientists Predict that oil may run out 40 t0 50 years time. "predict” means:
a) say will happen b) doubt <¢) know

3- Chemical plants often Emit gases , such as hydrogen sulphide, thus producing air pollution .

"emit" means :
a) produce b) allow to escape ¢) consume

4 —In some factories noise levels are intolerable ."intolerable" means:
a) Very low b) very bad ¢) not acceptable

5 —Englishmen were forbidden to work after 10.00pm ." forbidden " means :
a) Allowed b) not allowed  c¢) tired

QUESTION (5)1 1ot renssss s s ssss s e sea e a s s bbb ebanas (4 marks)

Try to complete these sentences beginning with "If" use the words below to help you :

Words : cooled/called ; convert/boiled ; vacuum/explode ;
Move/change ; want/have ; directed/container ; use.

1-If wateris .............. , it ........into steam and it expands( increase in size ).

2-If water is heated in a closed............ ,the boiler will.............

4
3-If steam is............. (decreased in temperature ),a partial........ (nothing in it e.g. space) is created.
4-If steam is.......... into a cylinder from one end , then from another end. It can ............ a piston
back and forth.
Question (6):
THRNSIGHE 100 ATBDIC & s (3 marks)

If Portland cement is mixed with crushed stones, and water is added, the mixture is called concrete.
Concrete is the most common material used in modern building. When steel is added into the
concrete, it is known as "reinforced concrete” reinforced concrete is a very strong building material.
The concrete gives reinforced concrete high compressive strength and the steel gives it high tensile

strength,
Question (7):

Translate inf0 ENGHSH & v s s sssssesssssssesens (3 marks)
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With My Best Wishes Prof, Dr. Mostafa Mahmoud
Prof. Dr. Mona A. Darwish
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Remarks: (try to answer the following questions... assume any missing data... answers should be
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Answer the Following Questions:

Problem number (1) (25 Marks)

a- Evaluate the centre and the radius of the circle of intersection between the
sphere x?+y2+22-2x +4y -2z =30 and the line 4y =3z =14. Then find the

sphere passing through this circle and touches the xz plane. (7 marks)

b- Obtain the asymptotic lines of the hyperbola x*-4y?-2x —16y +1=0. Then
find its conjugate hyperbola. (6 marks)

c- Prove that the point of intersection between the diameter of the parabola
y* =4ax and the parabola bisects that part of the diameter between the chord

and the point of intersection of the two tangents from the ends of this chord.

(6 marks)
d- Deduce the locus of the point of intersection of the two tangents from two
2 2
conjugate diameters of the ellipse %4——:—2— =1. (6 marks)
a
Problem number (2) (25Marks)
a- Given L, :~ ;9 =y-2=2 ;13&L2 X ;7 =a-y =g—_3;z-. Find a such that the two
lines are coplanar. Find the point of intersection between them. Find also the
plane contains them. (7 marks)

b- Evaluate the twofold equation of the double lines passing through the point
(2,3) and parallel to the two lines 2x*—5xy +y2=0. Then find the two
bisectors to the angle between the two required lines. (6 marks)

c- Sketch the curve 3x2+3y2+2xy 842y =4. | (6 marks)

d- Find the locus of a point moving in the plane such that its distance from the
vertex of the parabolax® =8y equals twice its distance from its focus. Find the

polar line to this locus from the pole (1,2). (6 marks)
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Problem number (3) (40 Marks)

(a) Evaluate the following integrals: (35 Marks: each part 5 Marks)

1

) f W dx (2) [(cosx).cos(Lnsinx)dx

(3) f ex/Z d f 1
x 4 dx
(1+e¥/2)(1-¢€¥) @ (x—1)2 V1-x+x2
tx

2 ¢ 2 (+3/2 cosecx .co
) [ x* tan?(x*/%) dx ® [ —— dx
(7 I, = [x™ coshx dx and use it to evaluate f x* coshx dx .

(b) Test for convergence th integral fz dx SM‘ ks

0 vergence € mtegra 0 7\/—(_2_—3-5 ar

Problem number (4) (20 Marks)
a) Give a sketch for the region bounded by the curves y? = 4x ,x* = 4y and

lying below the straight line x +y = 3 (el Jad Jins) 235 5), then determine

the area of this region. 7Marks

b) Use the integration to evaluate the perimeter (ds><) of a circle of radius r .
¢) Give a sketch for the region bounded by the conic section y% + 2 = 2x , its
tangent 2y = x + 1 and the x -axis,
(il sae s Al ety (g el gl O 3y pand) dikidl o)
then determine the volume of the solid generated by rotating this region

complete revolution around X-axis. 7Marks
(KLLSEJJJQLQ.»\J\ JJ}AJPM\ Q\JJJQA&@TAW‘PM‘?;AA.;}\ ?3)

With our best wishes

- Dr. Abdallah Shalaby , Dr. Assem Elshenawy




